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Reasoning Mega Quiz for SSC CGL - Beginner Level 
 

Direction (1-3): Select the related word/letters/numbers from the given alternatives: 

 

Q1. Sanitation : Illness : : Care : ? 

(a) Rest 

(b) Ignore 

(c) Accident 

(d) Suggestion 

 

Q2. GrtK : KtrG : : FjbH : ? 

(a) HbjF 

(b) jHbF 

(c) FbjH 

(d) HjbF 

 

Q3. 20 : 11 : : 102 : ? 

(a) 49 

(b) 52 

(c) 61 

(d) 58 

 

Directions (4-6): For the following questions. Find the odd word/letters/number pair from the 

given alternatives. 

 

Q4. (a) Man : Garage 

(b) Pig : Sty 

(c) Horse : Stable 

(d) Cow : Shed 

 

Q5. (a) WVU 

(b) DBA 

(c) NML 

(d) HGF 

 

Q6. (a) 1629 

(b) 3418 

(c) 2349 

(d) 1834 
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Q7. Arrange the following words as per order in the dictionary. 

1. Exploit   

2. Explosive   

3. Exponent   

4. Exposition   

5. Explore 

(a) 1, 3, 4, 5, 2 

(b) 1, 5, 2, 3, 4 

(c) 1, 5, 3, 2, 4 

(d) 1, 2, 5, 3, 4 

 

Q8. A series is given, with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

CAR, GCO, KEL, OGI, ? 

(a) SIK 

(b) SIF 

(c) TIK 

(d) TIL 

 

Q9. A series is given, with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

100, 50, 52, 26, 28, ? , 16, 8 

(a) 14 

(b) 30 

(c) 32 

(d) 38 

 

Q10. Mithilesh said to Neha, 'Your only brother's son is my wife's brother.' How is Neha related to 

the wife of Mithilesh? 

(a) Aunt 

(b) Mother-in-law 

(c) Sister 

(d) Mother 

 

Q11. W, X, Y and Z are four friends. W is shorter than X, but taller than Y, who is shorter than Z. 

Who is the shortest among all? 

(a) W 

(b) X 

(c) Y 

(d) Z 
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Q12. From the given alternative words, select the word which 

cannot be formed using the letters of the given word. 

SPECULATION 

(a) SPECIAL 

(b) TOPIC 

(c) SECULAR 

(d) CAUTION 

 

Q13. If A = 26 and X-RAY = 40, then WHAT = ? 

(a) 52 

(b) 54 

(c) 56 

(d) 58 

 

Q14. If 'A' stands for '+' , 'B' stands for '–', 'C' stands for '×', what is the value of (10C4)A(4C4)B6 = ? 

(a) 46 

(b) 50 

(c) 56 

(d) 60 

 

Q15. If 324 ⊕ 289 = 35, 441 ⊕ 484 = 43, then 625 ⊕ 400 = ? 

(a) 43 

(b) 41 

(c) 34 

(d) 45 

 

Q16. Select the missing numbers from the given alternatives 

12 ,8 ,4,8,4,12, 4 ,12,8,100 ,44 ? 

(a) 80 

(b) 56 

(c) 48 

(d) 36 

 

Q17. A person started walking towards West and covered a distance of 15m, he turned right and 

walked 10m. Again he turned right and walked 5m and in the end he turned left and walked 15m. 

Which direction is this person facing now? 

(a) North 

(b) South 

(c) East 

(d) West 
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Q18. Consider the given statement/s to be true and decide which of the given conclusions/ 

assumptions can definitely be drawn from the given statement. 

Statements: 1. All cycles are ducks. 

2. All ducks are swans. 

Conclusions: I. All swans are cycles.  

II. Some swans are cycles. 

(a) Only conclusion I follows 

(b) Only conclusion II follows 

(c) Both conclusion I and conclusion II follow 

(d) Neither conclusion I nor conclusion II follows 

 

Q19. Find the number of triangles in the given figure? 

 
(a) 8 

(b) 10 

(c) 12 

(d) 14 

 

Q20. Which of the diagrams given below correctly represents the relationship among  

WOMEN, MOTHERS, SPINSTERS 

(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q21. Which answer figure will complete the pattern in the question figure? 
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(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q22. From the given answer figures, select the one in which the question figure is hidden. 

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q23. A piece of paper is folded and cut as shown below in the question figures. From the given 

answer figures, indicate how it will appear when opened. 

 
(a)  

 
(b)  

 
(c)  

 
(d)  

  
 

Q24. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 

given figure? 

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q25. In this question, the sets of numbers given in the 

alternatives are represented. The columns and rows of Matrix I 

are numbered from 0 to 4 and that of Matrix II are numbered 

from 5 to 9. A letter from these matrices can be represented 

first by its row and next by its column, e.g., S can be represented 

by 02,11, etc., and 'L' can be represented by 65, 86, etc. 

Similarly you have to identify the set for the word 'BALL' 

Matrix – I  Matrix - II 

 0 1 2 3 4   5 6 7 8 9 

0 B N G L D  5 A I K O R 

1 G L D B N  6 I K O R A 

2 D B N G L  7 K O R A I 

3 N G L D B  8 O R A I K 

4 L D B N G  9 R A I K O 

(a) 30, 89, 11, 57 

(b) 21, 68, 34, 78 

(c) 21, 87, 03, 32 

(d) 12, 89, 42, 68 
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